Number of Supplier participated:

Bid Total Bid **Awarded** Supplier **Event - Lot Title** Quantity Price (SGD) (SGD) Awarded Quantity (SGD) Awarded Spend (SGD) Yes **ENSURE ENGINEERING PTE LTD** Table 2 - 3rd year Optional quote for additional 4 months of plant preventive maintenance service (Mech, I & E) service package for IVP 12,000.00 48000 4.00 48000 Table 1 - Optional quote for item 1, for additional 12 hours/day, 7 days per week. To be activated with 2weeks advance notice (if 9,600.00 57600 57600 needed) 6 6.00 Table 1 - Supply of Third Party Contracted Skilled Operation Technicians for at Variable Salinity Plant/ Desalination-Integrated Validation Plant 18 27,000.00 486000 18.00 486000 Table 2 - Supply of Third Party Contracted Skilled Maintenance Technicians for plant preventive maintenance works at Variable Salinity Plant/ Desalination-Integrated Validation Plant 12 12,000.00 144000 12.00 144000 Table 2 - 2nd year Optional quote for additional 12 months of plant preventive maintenance (Mech, I & E) service package for IVP 12 12,000.00 144000 12.00 144000 Table 2 - Optional quotation for ad-hoc activation within 2 hrs response time 528.00 528 1.00 528 Table 1 - Optional quote for item 1, for additional 8 hours/day, 7 days per week. To be activated with 2weeks advance notice (if needed) 4 9,000.00 36000 4.00 36000

			Bid		Total Bid		
Awarded	Supplier	Event - Lot Title	Quantity	Price (SGD	) (SGD)	Awarded Qua	ntity (SGD) Awarded Spend (SGD)
		Table 2 - 3rd year Optional		•			
		quote for additional 4 months					
		of plant preventive					
		maintenance service (Mech,					
		I & E) service package for	_				_
No	WSH EXPERTS PTE LTD		4	12,700.00	50800	0.00	0
		Table 1 - Optional quote for					
		item 1, for additional 12 hours/day, 7 days per week.					
		To be activated with 2-					
		weeks advance notice (if					
			6	17,050.00	102300	0.00	0
		Table 1 - Supply of Third		,000.00	.02000	0.00	,
		Party Contracted Skilled					
		Operation Technicians for at					
		Variable Salinity Plant/					
		Desalination-Integrated					
			18	34,100.00	613800	0.00	0
		Table 2 - Supply of Third					
		Party Contracted Skilled					
		Maintenance Technicians for					
		plant preventive maintenance works at					
		Variable Salinity Plant/					
		Desalination- Integrated					
			12	12,340.00	148080	0.00	0
		Table 2 - 2nd year Optional					
		quote for additional 12					
		months of plant preventive					
		maintenance (Mech, I & E)					
			12	12,700.00	152400	0.00	0
		Table 2 - Optional quotation					
		for ad-hoc activation within 2 hrs response time	1	44.00	44	0.00	0
		Table 1 - Optional quote for	1	44.00	44	0.00	U
		item 1, for additional 8					
		hours/day, 7 days per week.					
		To be activated with 2-					
		weeks advance notice (if					
		needed)	4	11,240.00	44960	0.00	0
	PROMACH PTE LTD						
		Table 2 - 3rd year Optional					
		quote for additional 4 months					
		of plant preventive					
		maintenance service (Mech, I & E) service package for					
			4	60,000.00	240000	0.00	0
		•••	•	20,000.00	_ 10000	0.00	•

Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
	•	Table 1 - Optional quote for item 1, for additional 12	· · · · · ·	, ,		,	
		hours/day, 7 days per week.					
		To be activated with 2- weeks advance notice (if					
No	PROMACH PTE LTD	needed)	6	156,000.00	936000	0.00	0
		Table 1 - Supply of Third		,			
		Party Contracted Skilled Operation Technicians for at					
		Variable Salinity Plant/					
		Desalination-Integrated					
		Validation Plant	18	540,000.00	9720000	0.00	0
		Table 2 - Supply of Third Party Contracted Skilled					
		Maintenance Technicians for					
		plant preventive					
		maintenance works at Variable Salinity Plant/					
		Desalination-Integrated					
			12	180,000.00	2160000	0.00	0
		Table 2 - 2nd year Optional quote for additional 12					
		months of plant preventive					
		maintenance (Mech, I & E)	40	400 000 00	0400000	0.00	•
		service package for IVP Table 2 - Optional quotation	12	180,000.00	2160000	0.00	0
		for ad-hoc activation within 2					
		hrs response time	1	200.00	200	0.00	0
		Table 1 - Optional quote for item 1, for additional 8					
		hours/day, 7 days per week.					
		To be activated with 2-					
		weeks advance notice (if needed)	4	120,000.00	480000	0.00	0
	ACE WATER PTE LTD		•	.20,000.00		0.00	
		Table 2 - 3rd year Optional quote for additional 4 months					
		of plant preventive					
		maintenance service (Mech,					
		I & E) service package for IVP	4	25 000 00	100000	0.00	0
		Table 1 - Optional quote for	4	25,000.00	100000	0.00	0
		item 1, for additional 12					
		hours/day, 7 days per week.					
		To be activated with 2- weeks advance notice (if					
		needed)	6	42,000.00	252000	0.00	0

			Bid		Total Bid		
Awarded	Supplier	Event - Lot Title	Quantity	Price (SGD)	(SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
		Table 1 - Supply of Third					_
		Party Contracted Skilled					
		Operation Technicians for at					
		Variable Salinity Plant/					
N	A OF WATER RIFE LTR	Desalination- Integrated	10	00 000 00	4404000	0.00	
No	ACE WATER PTE LTD	Validation Plant	18	63,000.00	1134000	0.00	0
		Table 2 - Supply of Third Party Contracted Skilled					
		Maintenance Technicians for					
		plant preventive					
		maintenance works at					
		Variable Salinity Plant/					
		Desalination- Integrated					
		Validation Plant	12	20,000.00	240000	0.00	0
		Table 2 - 2nd year Optional					
		quote for additional 12					
		months of plant preventive					
		maintenance (Mech, I & E)	10	00 000 00	070000	0.00	
		service package for IVP Table 2 - Optional quotation	12	23,000.00	276000	0.00	0
		for ad-hoc activation within 2					
		hrs response time	1	1,200.00	1200	0.00	0
		Table 1 - Optional quote for	•	.,200.00	.200	0.00	
		item 1, for additional 8					
		hours/day, 7 days per week.					
		To be activated with 2-					
		weeks advance notice (if					
	CUENICAL INDUCTRIES (EAD EAST) LIMITED	needed)	4	21,000.00	84000	0.00	0
	CHEMICAL INDUSTRIES (FAR EAST) LIMITED	Table 2 - 3rd year Optional					
		quote for additional 4 months					
		of plant preventive	•				
		maintenance service (Mech,					
		I & E) service package for					
		IVP	4	25,200.00	100800	0.00	0
		Table 1 - Optional quote for					
		item 1, for additional 12					
		hours/day, 7 days per week. To be activated with 2-					
		weeks advance notice (if					
		needed)	6	30,360.00	182160	0.00	0
		Table 1 - Supply of Third	Ü	55,555.55	102100	0.00	•
		Party Contracted Skilled					
		Operation Technicians for at					
		Variable Salinity Plant/					
		Desalination- Integrated					
		Validation Plant	18	49,280.00	887040	0.00	0

			Bid		Total Bid			
Awarded	Supplier	Event - Lot Title	Quantity	Price (SGD)	(SGD)	Awarded Quantity (SGD	) Awarded Spend (SGD)	
		Table 2 - Supply of Third						
		Party Contracted Skilled						
		Maintenance Technicians for	•					
		plant preventive						
		maintenance works at						
		Variable Salinity Plant/						
No	CHEMICAL INDUSTRIES (FAR EAST) LIMITED	Desalination- Integrated Validation Plant	12	25,200.00	302400	0.00	0	
NO	CHEMICAL INDUSTRIES (FAR EAST) LIMITED		12	25,200.00	302400	0.00	0	
		Table 2 - 2nd year Optional quote for additional 12						
		months of plant preventive						
		maintenance (Mech, I & E)						
		service package for IVP	12	25,200.00	302400	0.00	0	
		Table 2 - Optional quotation		20,200.00	002 100	0.00	ŭ	
		for ad-hoc activation within 2						
		hrs response time	1	800.00	800	0.00	0	
		Table 1 - Optional quote for						
		item 1, for additional 8						
		hours/day, 7 days per week.						
		To be activated with 2-						
		weeks advance notice (if						
		needed)	4	25,960.00	103840	0.00	0	